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yy = smooth(y)
yy = smooth(y,span) %bspan: JE¥ A% K] & B
yy = smooth(y,method)

TR

yy = smooth(y,span,method)
yy = smooth(y,'sgolay’,degree)
yy = smooth(y,span,’sgolay’,degree)

yy = smooth(x.y,...)
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>> t = linspace(0,2*pi,500)";
>>y = 100*sin(t);

>> noise = normrnd(0,15,500,1);
>>y =y + NOISE;

>> plot(t,y);

>> xlabel('t");

>> ylabel('y = sin(t) + B");
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(1) BEFIE
>> yy1 = smooth(y,30);
>> figure;
>> plot(t,y,'k:");
>> hold on;
>> plot(t,yyl,'k",'linewidth",3);
>> xlabel('t");
>> ylabel(*‘moving");

>> legend (NIRRT, IR B IRTE");
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(2) lowessFFi%
>> yy2 = smooth(y,30,'lowess");
>> figure;
>> plot(t,y,'k:");
>> hold on;
>> plot(t,yy2,'k",'linewidth*,3);
>> xlabel('t");
>> ylabel(*lowess');

>> legend (‘TR BT, PR B ITE");
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>> yy = medfiltl(y,30);

>> figure;

>> plot(t,y,"'k:");

>> hold on

>> plot(t,yy,'k","LineWidth",3);

>> xlabel('t");

>> ylabel (" FELTEE);

>> legend (NIRRT, FIR FE K TE');
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Z = zscore(X)

[Z,mu,sigma] = zscore(X)

[...] = zscore(X,1)

[...] = zscore(X,flag,dim) FoER TS T
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VAR rand R B EFEHFERE, AE AR zscore iEBUFEHIZFIFREL .
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>> x = [rand(3,1), 5*rand(3,1), 10*rand(3,1)]
>> [xz,mu,sigma] = zscore(X)

>>s=std(xz)  YoknifEE

0. 6948 0.1722
0.3171 2. 1937
0. 9502 1.9078

0.1280  —1.1448 0. 5335
-1. 0578 0. 7031 0. 6201

0. 9298 0.4417 -1.1536

1. 0000 1..0000 1. 0000
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>>data=[123;424;586];

[m,n]=size(data);
1 3 0 0 0
X = max(data); Y = min(data); 2 0. 7500 0 0.3333
5 3 1.0000  1.0000  1.0000

yy = repmat(Y, [m,1]) ;
X = (data-yy)./(X-Y)

X, —minx,
4 1<k<n ki

. E)
maxx, —minx,
l<k<n K I=k=n L4
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>> data = xIsread("Excel##E S 4 xIsx")

~d
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>> A= isnan(data) % dataHJEE (NaNs, EL4n0/0)
B, 75 MERO;

BeFEN > isnan(data)
» data = xIsread( ExcelZE . x1sx’)

ans =

168. 4
162.3

6x4 logical A

.0000 168.4000 74,2000 686.0000 160.5 48.7
0d. O Q.
174 1.5
161.9 2.1

1

2.0000 162. 3000 NaN  275. 0000
3. 0000 NaN  63.8000 867.0000
4.0000 169.8000 48,7000 327.0000
5.0000 174.0000  71.5000 NaN
6.0000 161.9000 52.1000 625.0000
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FELITIRTE
>>id =any(A, 2) WHARTREAN, NREETH, UKL
B NERO.

>> D = data(~id,:)

isnan(data) >> id =any (4, 2)

ans = id =

6X4 logical ##H 6X1 logical %z

1. 0000 168.4000 74,2000

4,0000 169.8000 48,7000 327.0000
6. 0000 161.9000  52.1000 625.0000
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BEYy=fOREIES (x1,y1),(x2,y2),...,(xn,yn) ) 1& 187 X Le 38 =
, FHENERNEHY=9(x). BiELEEHE, g(x) SI)EEL,
RIBFETENH, MESH: —H. 4%, ZHER{HE.
RIBEERYAE, FHESH: ZMEE. ESEE. 2R
iE. = REREES.

MatlabfEft T —4E. T4, NAEHR(E R Hinterpl, interp2, interpN
LUK =R 1 S5 4R (B ek #ispline
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—HHIERE (AT =RHD)

Y 1=interpl(X,Y,X1,'method")
R EARIEX, YAUE, ITERBEXILHE. X YERTFKWEH
EE, PAEARESIERE, XMIZ2— I EERIRE, HFRAK
MEMNS, T2 1MEXFKINEELSSR.
method 2 HEEE, RIFHIEVEAIlinear (ZkMiGE, ABIARIE
BEF7E) \ nearest (FRIEMIE{E)  cubic (ZXZBIKIRE) |
spline (ZR#HEE) -
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B): FAREIEET A By=sin(x)En/2 S B E.
x=0:0.2:pi;
y=sin(x): Sl0.9975
sl=interpl(x,y,pi/2) 52 =
s2=interpl(x,y,pi/2,'linear") 0.9975
s3=interpl(x,y,pi/2,'nearest’) 830:.9996
sd=interpl(x,y,pi/2,'cubic") s4 =
sS=interpl(x,y,pi/2,'spline") 550:.9992

1.0000
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h =6:2:18;

t=[18,20,22,25,30,28,24 ; 15,19,24,28,34,32,30]";

X1 =6.5:2:17.5

Y I=interpl(h,t,Xl,'spline")
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Z1=interp2(X,Y,Z,X1,Y1,'method")

HPXYRHAINHE, 2HBRRNSHERERER, ZRE
SRS RBE, X1LYIEFANAERFE, BRkiE
ERR. ZIRREHNKBETTEERREESR. methodH)
BUEE —EBEREAMEE. XY ZHATLREREE K.

FIRE, X1LYIREBUEEEAEHX YRS EEE, T,
245 “NaN” 43R,



5 F LI —R K1 0K AN B THGR B EEIBMIK . AxkR @#iiniss
MEF0:2.5:10K), AhFRMERTE0:30:60(F)), BTRZM  ELFHRE
RS ERANERE (C) « AL MREKRLE—7HAERm207)

W FIR1IRLANRETI

x=0:2.5:10; h=[0:30:60]";

T=[95,14,0,0,0; 88,48,32,12,6; 67,64,54,48,41];

x1=[0:10]; hi=[0:20:60]";
TlI=interp2(x,h, T, xi, hi)
surf(xi,hi, TI)
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E I polyfiteR #HK KSR/ RN G Z W R, HHpolyval
IS Z I E T H i = LRI R HUAME.
[p,s]=polyfit(x,y,m)

R HIRBERFESXFIREFE LB Ey, =E—ImXZHMNp R HAEX
HRWIRERIEs. Hfx, y2BNMFKHEE, p2—MKE Ant
HEE, pRITTRAZHN R
polyval(p,x) R A I EE =2 Z N R BT EXR BTN E.



Bl: CRBIERLY], RR2KBELHAp(t), BRERL=1,152 @ ##nir?
2.5, ...,9.5,10 & S K R EUA BUE . LT HIRTR
t=1:10; y=[9.64.11.30.40.050.1 0.7 1.8 3.8 9.0];

p=polyfit(t,y,2)

8. p=0.4561 -5.0412 13.2533
HST y=0.4561x2-5.0412 x+13.2533
RIETHE & FOERMEFF&HIH & £ .
t1=1:0.5:10

yi=polyval(p,ti)

plot(t,y,":0",ti,yi,"-*")
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